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SECTION A

Question 1
Write explanatory notes on each of the following:

a) Advantages and disadvantages of the Pay Back Period

b) Components of cost-benefit analysis

¢) Factors affecting reliability of figures utilized in cost-benefit analysis

d) Criticisms of the cost-benefit analysis

¢) .Public Sector Planning

[ 5 marks each]

Question 2

Give a detailed presentation of a project life cycle [ 25 marks]

Question 3

a) “ A bird in hand is worth two in the bush”. Explain the relevance of this statement
with regard to the time value of money in project appraisal. [5 marks]

b) Why are discounted measures necessary in project evaluation, what steps does
discounting involve? [ 5 marks]

¢) Consider the following cashflows:

Year Cashflow A Cashflow B
0 40, 000 40, 000
1 20, 000 15, 000
2 20, 000 10, 000
3 10, 000 10, 000
4 5, 000 _ 20, 000

Calculate the return on capital employed for each project. What is the major limitation of
this measure in project evaluation? [ 15 marks]



Question 4

a) Outline the advantages and disadvantages of the Internal Rate of Return as a measure
in project evaluation. [ 7marks]

b) Find the discounted Payback Period given the following cashflows for Project A.
Assume the required rate of return on the project is 20%:

Project A Undiscounted Cashflows
0 -35, 000
1 10, 000
2 8, 000
3 10, 000
4 8, 000
5 5, 000
6 15, 000
[ 9 marks]
¢) Calculate the Net Present Value of Project A. Is this result consistent with the result
obtained in b) above? [ 9 marks}
SECTOR B
Question 5

Write explanatory notes on the following:

a) Benefit —Cost Ratio and the Net Benefit Investment Ratio [ 5 marks]

b) Replacement Chain Model [7 marks]

¢) Break-Even Analysis [ 6 marks]

d) Critical Path Method (CPM) and steps involved in construction of a network diagram
[ 7 marks]

Question 6

a ) A company has been engaged in ice cream production since 2007. During a project
evaluation exercise carried out in 2008 it was found that the demand for ice cream had
doubled. Company management is trying to decide among three different ways on
expanding the company’s productive capacity. Each method involves different capital
expenditure and benefits. Using different measures of investment worth, the company
came out with the following results:



Investment Payback Period Return on Net Present
(Years) Investments (Rol) | Value
A 2 10% 1, 000
B 4 18% 2, 500
C 3 | 15% 5, 500

Which investment should the company choose? Indicate the basis of your
recommendation and explain why you relied on the investment measure that you chose

rather than the other two measures.

[ 10 marks]
b) A company is interested in an investment that would require an initial capital outlay of
E7000. The investment is expected to produce net cash inflows of E16000 per year for
the first four years and E4000 in the fifth year. Assume that the management of the
company has an 8% acceptable rate of return on investment and expects the project to
payback within two years of implementation. Using the discounted Payback and the Net
Present Value methods of project evaluation, determine the viability of the project.
Comment on your results [ 15 marks]

Question 7

a) Sibonakude Investments is considering making an investment which has the following
cashflows:

Year Cashflow (E)
0 (10220}
1 1500
2 5500
3 11000

Using the Net Present Value approach, given that the cost of capital is 10%, ascertain the
desirability of the project..
[10 marks]

b) With the aid of diagrams discuss one method of dealing with negative externalities and
one method of dealing with positive externalities. )
[ 15 marks]




Question 8
a) Explain the concepts of risk and uncertainty. [3 marks]

b) One way of incorporating risk into a project is through sensitivity analysis, Discuss
any four areas to which projects are sensitive. {8 marks]

c) What are weaknesses of the sensitivity technique [4 marks]

d) Compare and contrast the UNIDO and the OECD approaches to project evaluation in
developing countries. ' [10 marks]
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